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I. Choose the word that has the underlined pronounced differently from the others. (1 mark)
1. A. which
B. who
C. whole
D. write 

2. A. university 
B. union 
C. under
D. useful  

3. A. square 
B. quarter 
C. technique
D. quality 

4. A. twinkle
B. two 
C. twenty 
D. twice 

II. Finish each of the following sentences, beginning with the given words so that it means the same as the sentence printed before it. (2.5 marks) 
1. When the teacher entered the class, he saw John using his phone.


The teacher caught …John using his phone.….
2. “I’m sorry. I haven’t finished the report yet” he said to his boss.


He apologized to his boss …for not having finished / not finishing the report.….
3. “If you practice speaking English with your friends every day, you will speak it better” His teacher said to him.


His teacher told him (that) if he practiced speaking English with his friends every day, he would speak it better.
4. My car cannot run fast because of sand.


Sand prevents …my car (from) running fast....
5. Try your best and you’ll succeed.

III. Read the passage below and decide which answer (A, B ,C D) best fits each space. ( 1 mark) 

Mexico City is growing quickly. In 1970, the city had about 9 million people. Now it has over 17 million. All these people are causing (1) ______ for the city. There are not (2) ______ jobs. Also, there is not enough housing. Large families have to live together in small homes. Many homes do not have water. They also do not have bathrooms or electricity. The Mexican government is (3) ______ about all these problems. It is working hard to make (4) ______ better in the city.
1. A. things 
B. matters
C. problems 
D. news

2. A. enough 
B. lack
C. much 
D. many

3. A. discussed 
B. interested
C. worried 
D. known

4. A. duration
B. life 
C. live
D. circle 
IV. Complete the sentences with the correct tenses of the verbs given in the brackets. (1.25 marks) 

1. He is looking forward to…meeting…. (meet) his old friends. 
2. …Having read……(read) the book many times, I didn’t want to read it any more.

3. Mary said (that) she would have won the contest if she (prepare)…had prepared…everything for it carefully.

4. She sat on the chair…seeing…(see) a car from a distance.

5. If I were you, I…wouldn’t agree…. (not agree) to do it.

V. Complete the sentences with the correct form of the words given in the brackets. (1.25 marks) 
1. In Vietnam there are laws protecting the rights of ethnic …minority.. . (MINOR)

2. The Government is making efforts to promote the family …planning….. throughout the country. (PLAN)

3. Green Summer is a …voluntary/volunteer….. project where students provide education for disadvantaged children. (VOLUNTEER)

4. The Nobel Prizes are awarded …annually…..  .(ANNUAL)

5. Most governments in the Third World are trying to …limit…..population growth (LIMITATION)

VI. Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the questions from 17 to 20. 

          The Tour de France, often called the Tour, is the most popular bicycle race in the world. More than 150 competitors race along a course that covers about 3,200 km of European roads. The Tour usually lasts about 25 to 30 days each July. The course of the Tour changes each year. It lies mostly in France, but it has also passed through neighboring countries such as Belgium, Spain, Germany, and Switzerland. The final stretch of the course always runs along the Champs-Élysées, a famous avenue in Paris. Only about half of the cyclists who enter the Tour finish the race.

         The Tour de France is divided into stages. There is a stage almost every day, and some stages emphasizes a particular cycling skill, such as climbing hills, sprinting, or performance in time-trial races. Cyclists are timed for each stage. During the race, the cyclist with the lowest cumulative time wears the yellow jersey. In this way, the yellow jersey indicates the current leader. At the conclusion of the race, the cyclist with the lowest total time is the winner and receives the yellow jersey as a trophy in a ceremony in Paris.

        Each competitor in the tour belongs to a team of nine cyclists. Each team has a leader, who is its best all-round cyclist. Other team members help the leader. They may shield the leader from wind, provide food or drink, or offer support to the leader while climbing hills. Prize money awarded to winners is usually shared among the team members.

1. Cyclists entering The Tour de France ……………… . 


A. must cover over three thousand kilometers 
B. race in neighboring countries of France


C. always run along the Champs-Élysées 
D. race in France  
2. Which of the following words is similar in meaning to “cumulative” ?


A. growing  
B. swelling  
C. increasing  
D. collective  
3. The winner of the race is the one ……………… .


A. who is best at a particular cycling skill 
B. wears the yellow jersey during a stage of the race 

C. who covers the course with the lowest total time D. who runs along the Champs-Élysées.

4. Which of the following statements is NOT true?


A. Team members share the prize money if their leader wins the race.

B. Team members may offer help to their team leader.


C. Competitors in the Tour are divided into teams of nine cyclists each.

D. Each team has a leader, who is the best while climbing hills.

VII. Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions (2 marks)
1. Many                sports are now televised.

    A. spectator 
B. audience
C. viewer 
D. passenger

2. Loan wastes a lot of time and money                 computer games.

    A. playing 
B. to play
C. to playing 
D. play
3. Attendance is purely                 .

    A. volunteered 
B. voluntary 
C. volunteer
D. voluntarily 
4. He would not have lung cancer                     he smoked.

    A. unless 
B. or
C. but for
D. if 
5.                   the book, Van could not answer the question.

    A. Not having read
B. Not having been read
C. Not reading
D. Not be read

6. Can you provide accommodation                   thirty people?

    A. up
B. with 
C. for
D. about 
7. They                  her against marrying quickly.

    A. rowed
B. advised 
C. fought 
D. beat

8. Although they lost, the team played with tremendous                    .

    A. feeling 
B. spirit 
C. height
D. enthusiasts
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